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1 LF400m AFL—1JL—(3) 915
2 BF400m AFL—1YL—(3)
3 ZLF400m B AAFL—(1)
4 B F400m A AARL—(1)
5 & F 200m & K = (1)10:15
6 B F200m & ik F(2)
7 &L F 50m B =2 2 (6 )
8 BF 50m H e 2 (9 )
9 &L ¥ 200m BH =2 f2 (2 ) 10:55
10 B F200m H 2] 2 (4)
11 & F200m /N2 275 4(1)
12 BF200m /N &% 75 4(1)
13 & F 200m F ko F (2 ) 11:25
14 B F200m I ik = (3)
15 & F 400m H =3 (1)
16 B F 400m H =2 e (2)
17 T F200m A ARL —(2) 1210
18 B F200m B AARL —(3)
< K BE >
19 & F100m & ik F (3 ) 1300
20 B ¥100m & K E(6)
21 & F100m H =2 f (5 )
22 B F100m H K 2 (8 )
23 T F100m /N 2 7 5 A (2 ) 1400
24 B F100m /N 2 7 5 4(3 )
25 & F 100m F K £ (3)
26 B F100m F ik =(7)
< KB >
27 & F 400m ) L — (3 ) 14:55
28 B F 400m Y L — (3 )
Bl & K

B FFIT-FR

REPHIEE

QfRE
OXH @FESH
OFHE QBR
Q@M QOHRE
@KE
@R

D&

OFS:52i:

@FHE iEXk

DT

OXREFE

DERIE QI

QB&

Q@XK QWi

Q@K#t

X BEIXERTY, MEROETICRYRNRTHIEAHYFT,



